
Assignment 6 
Network Flow 





Set (A,B) such that there is no 
path from s to t. 

Set A: Nodes reachable from s 
after the cut
Set B: Nodes not reachable 
from s after the cut 
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Set (A,B) such that there is no 
path from s to t. 

Set A: Nodes reachable from s 
after the cut
Set B: Nodes not reachable 
from s after the cut 

How to:
• Delete edges until you 

have such a set

• Capacity: Sum of the 
deleted edges (with 
weights)There are four such cuts
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• The hospital has an 
overall supply and 
demand for blood

• You have donors and 
recievers (green)

• You have an constraint 
between these groups 
(yellow) 

How can each of theese 
bullets be translated to a 
network flow? 







55+33+8+3=99 < 115 45+42+9+3=99 < 115



55+33+8+3=99 < 115

55+33+8+3=99 < 100 45+42+9+3=99 < 100












